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double calculate nextx (double x, double t)
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#include <stdio. h>
#include <math.h>
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double f(double x, double t)
{ double fx;

fx = x3

return fx;



// next_x — x = f(x, t)*STEP
double calclate nextx(double x, double t)

{
double next_x;

next x = x + f(x, t)*STEP;

return next_Xx;

}

int main(void)

{
double x, x_next, t;
x =1.0;
t =0.0;
printf("%s, %s, %s¥n”, “t7, "x=f(t)”, “exp(t)”);
while (t<(1. 0+STEP)) {
printf "%, %e, %e¥n”, t, x, exp(t));
x_next = calclate nextx (x, t);
X = X_next;
t = t+STEP;
}
return O;
}
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// next_x = x + g(x, t)*STEP
double calclate nextx(double x, double t)

{
double next_ x;
double k1, k2, k3, k4;
/] k= f(xo, to)
kl = f(x, t);
// k, :f(xo+k1XAtato+%j
k2 = f (x+kl*step/2.0, t+STEP/2.0) ;
//k, :f(xOJrkZXAt ,zo+%J
k3 = f (x+k2%step/2.0, t+STEP/2.0) ;
/] ky = f (X, +ky x At t,+ Ar)
k4 = f (x+k3*step, t+STEP);
/) g(xO’tO) _ k +k, +62k3 +k, W As
next_x = x + (k1+2%k2+2%k3+k4)*step/6.0;
return next_X;
}
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. 000e+000, 1.000e+000
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Press any key to terminate this program.
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